—

ORSA™
www.orsa-ltd.com

OMP? CW SERISI GAZLI YAYLAR

s - Charge \
mobEL |F, 4l [Als L1 L | ) [Fon
Pmax 2

CW170Vv1 | 170 019 | 7-125 | 44-285 | 180 M6 X X

CW320V1 [ 320 | @25 | 7-125 | 44-285 | 180 M6 X X

CW 350 350 @32 [(10-125 | 50-280 | 180 M6 v~ L

CW 500 500 038 [10-125 | 50-280 | 150 M6 v~ v’

CW 750 750 @45 [10-125 | 52-282 | 150 M6 v v

CWC 750 V1| 750 @45 [10-125 | 62-292 | 150 G1/8” v v’

CW 1000 V1| 1000 | @50 | 13-125| 64-288 [ 150 M6 v v’

CWC1000V2| 1000 | @50 | 13-125| 74-298 | 150 G1/8” vz v~

CW 1500 1500 | @63 | 13-125| 70-294 | 150 M6 vz v’

CWC 1500 | 1500 | @63 | 13-125| 80-304 | 150 G1/8” v v’

CW 2400 V1| 2400 | @75 | 5-125 | 55-295 | 150 M6 v ¥

CWC2400V2| 2400 | @75 | 10-125 | 75-305 | 150 G1/8” v v’

CW 4200 V1| 4200 | @95 | 16-125| 90-308 | 150 G1/8” v vz

CW 6600 6600 | 120 | 16-125 | 100-318| 150 G1/8” v vz

CW 9500 9500 | @150 |19-125 |116-328| 150 G1/8” vz v’

CW 11800 | 11800 | @150 |19-125 |116-328| 150 G1/8” v v~
\CW 20000 | 20000 | @195 |19-125 [148-360| 150 G1/8” vz v
— =\

ITS 0 50 G0

mm
— )
H il (Ci=131) '
|.1138 ML1‘=1‘38 | [1=138) |.
L L1=152) L1=150 (L11=195)
- 11=150) | (L1=188) | | |~
(1000) 1000 (750)
(1000 1000 (1000) 750 1800
(1000) 750 (1000)
CR 1000 CT 1000 GN 750
MODEL X CW1000 | AS1000 | CK1000 | CM1000 | AG 750 | CP2000 | CS1800
CZ 1000 FD 750 CD 1000
MINI | COMPACT | THREADED | LOW HEAVY 1S0 HEAVY | CFOUER
HEIGHT PROFILE DUTY LOAD STROKE
SERIES =||| & |4 B >Pmax)
= = 1 A
s YRR E




ORSA™
www.orsa-ltd.com

[ [CW170V1 |
. URUN S u i i
: +0,25 i
KODU (mm) | (mm) | (mm) T,
cwirooor | 7 | 4 | 37 LD EEESEEE
CW170010 10 50 | 40 P
CW170013 | 13 5 | 43 s
CW170015 15 60 | 45 s .
CW170019 | 19 | 68 | 49 I il
CW170025 25 80 | 55 I
CW170032 2 % | 62 -
CW170038 38 106 68 BN
CW170050 = 50 = 130 | 80 8
CW170063 = 63 = 156 | 93 L i s s
Cw170075 75 | 185 110 L
CW170080 8 @ 195 | 115 o < L i
CW170100 100 @ 235 @ 135 o 2" 7
CW170125 | 125 285 160 | T
g
s mm ( daN )
o BN S
< || KODU  mm) | (mm) | om0 | B
CW320007 7 | 4 | 37 =V | EEEee e
Jﬁ CwW320010 10 50 | 40 e ——
1 | Cws3012 | 12 54 | 42 e
CW320015 | 15 60 45 | o [:ﬁ:;ﬁ; Wz
b 129 L Cw320019 19 68 | 49 [ 22
CW320025 25 80 55 R CE N P
CW320032 32 94 | 62 .
CW320038 38 106 68 Bilhse
3 CW320050 50 @ 130 | 80
M6 wi | CW320063 @ 63 @ 156 93 P LA
CW320075 75 185 110 —
CW320080 80 @ 195 | 115 « L I
CW320100 = 100 235 135 =5
CW320125 | 125 285 160 | eE i e

A31



ORSA™

M6x6
(x2)

M6x6
(x4)

L1

Dolum Yeri

A32

URUN

KODU

CW 350010
Cw 350013
CW 350016
Cw 350019
CW 350 025
CW 350 032
CW 350 038
CW 350 050
CW 350 063
CW 350 075
CW 350080
Cw 350100
CW 350 125

URON

KODU

Cw 500010
Cw 500013
CW 500016
Cw 500019
CW 500 025
CW 500 032
CW 500 038
CW 500 050
CW 500 063
CW 500 075
CW 500080
CW 500100
CW 500 125

(mm)
10
13
16
19
25
32
38
50
63
75
80
100
125

1
+0,25
(mm)

50
56
62
68
80

106
130
156
180
190
230
280

L1
0,25
(mm)

50
56
62
68
80
9%
106
130
156
180
190
230
280

105
110
130
155

(mm)
40
43
46
49
55
62
68
80
93
105
110
130
155

www.orsa-ltd.com

Fo 20 0 60 80 100 120 140 160 180
(E5%) P i ( bar)

3
%0 10 25 38 50 63 75 100 125
S

(mm)

8 50 63 75 100 125

(mm)

< i
CW 350 50

CW 1000 050

SIPARI§ ORNEGI

|

=

8 50 63 75 100 125

(mm)

oW 500 “sﬁm‘
— T
CW 500 050

SIPARIS ORNEGI

a




ORSA"™
www.orsa-ltd.com

Fox12
Fox11

; ” URUN s I_1 L ( daN )
: KODU +0,25
(mm) | (mm) | (mm) ﬂF
| cwmoonn | 10 | 4 | L ]
L1 cw7s0013 13 58 | 45 e ——
.| cwrsoote | 16 64 | 48 Vosrm
CW750019 | 19 70 | 51 ‘E;EE{S

6 CW750025 @ 25 82 | 57 :
| CW750032 32 | 9% | 64 S
M6 | cw7s0038 | 38 | 108 70

Cw750050 @ 50 132 | 82 g T H
CW750063 @ 63 158 = 95

—M8x6 Max ©0 10 25 38 50 63 75 100 125

(x2) CW750075 | 75 @ 182 | 107 s ()
CW750080 | 80 192 | 112 R
CW750100 | 100 @ 232 132 —=F 7
220 CW750125 = 125 | 282 | 157 - Sl o
[ [ CWC 750 V1 |
URON S 1L
+0,25
KODU (mm) | (mm) | (mm) 1T,
CWC750010 10 @ 62 @ 52 [ ESsSSsSs=s)
CWC750013 13 | 68 | 55 ( i
CWC750016 16 | 74 | 58 S
CWC750019 19 80 | 61 N G
CWC750025 25 @ | 67 \ & ==
CWC750032 32 | 106 74 s—————>m
CWC750038 38 | 118 80 "
245 Doumvei | CWC750050 50 | 142 @ 9@ 155 S
s CWC750063 63 | 168 | 105 |- | %

(x2) Max 0 10 25 38 50 63 75 100 125

CWC750075 75 | 192 | 117 Sl e ()

CWC750080 80 | 202 @ 122 g [ ¥
a50 CWC750100 100 242 | 142 =" 7

CWCT50125 | 125 202 167 —T

A33




ORSA™

E ! '| KoDu

L1

‘7,],,,J

@43
250

M6
. Dolum Yeri

M8x6
(x2)

URUN
s KODU

L1

!
1?,5 '
243
@50

L.G1/8
_ Dolum Yeri

M8x13
(x2)

URUN

i CW 1000013

3 CW 1000 016
CW 1000019
CW 1000 025
{8 CW 1000 032
CW 1000 038
CW 1000 050
CW 1000 063
CW 1000 075
CW 1000 080
CW 1000 100
CW 1000 125

CWC 1000013
CWC 1000 016
L CWC 1000019
CWC 1000 025
CWC 1000 032
"| cwc 1000038
CWC 1000 050
CW(C 1000 063
CWC 1000 075
CWC 1000 080
CWC 1000100
CWC 1000 125

(mm)
13
16
19

32
38
50

75
80
100
125

—

mm)
13

16
19

32
38
50

75
80
100
125

102
114
138
164
188
198
238
288

+0,25
(mm)

74

98
112
124
148
174
198
208
248
298

(mm)
51
54
57

70
76

88

101
13
118
138
163

123
128
148
173

www.orsa-ltd.com

(daN ),

1

20 3 5 E{ 9 10 130 150
P i (bar )

0 63 75 100 125

—

xﬂr—*
o

SIPARIS ORNEGI

( daN ),

2030 50 70 90 110 130 150

A14-50 D02-50
A34-50 B41-50
C20-50 D67-50
C05-50 B36-50

~ owe 1000
[ __T
SIPARIS GRNEGI




ORSA"

256

263

L1

M6

. Dolum Yeri

-M8x6
(x2)

256

263

L1

1
10,5
-5 1 !

G1/8”

_ Dolum Yeri

~M8x13

(x2)

EER
URON S
KODU "
Cw1500013 @13
Cw 1500016 @ 16
Cw1500019 19
CW1500025 | 25
Cw1500032 32
Cw1500038 @ 38
CW1500050 50
CW 1500063 @63
CW1500075 @75
Cw 1500080 @ 80
Cw1500100 100
CW1500125 @ 125

UU
URUN

KODU

CWC 1500 013
CWC 1500 016
CWC 1500019
CWC 1500 025
CWC 1500 032
CWC 1500 038
CWC 1500 050
CWC 1500 063
CWC 1500 075
CWC 1500 080
CWC 1500100
CWC 1500 125

(mm)
13
16
19
25
32
38

50

63

75

80

100
125

L1
0,25
(mm)

70
76
82
9%
108
120
144
170
194
204
244
294

+0,25
(mm)

104
118
130
154
180
204
214
254
304

107
119
124
144
169

17
129
134
154
179

www.orsa-ltd.com

( daN )

I
T
P
Fu 20 3¢ 5 70 0 110 130 150
(E5%) P i ( bar)
(daN )
Fyx19
Foxis|- H =
Fox17
F,x186
i /
Fox15
JIL Foxtd /4
F,x13
[&l)] #
Fox11 1
F,
‘0 25 38 50 63 75 100 125
S (mm)
80
I 70
u \
Max © 25 38 50 63 75 100 125
D ——
(2 = i\s
CW 1500 50
1263 D02-63 — T
A39-63 B41-63 CW 1500 050
3563 D67-63 ; =
C05-63 B36-63 SIPARIS ORNEGI

( daN )

I
T
P
Fu 20 3¢ 5 70 0 110 130 150
(E5%) P i ( bar)
(daN )
Fyx19
Foxis|- H =
Fox17
F,x186
i /
Fox15
JIL Foxtd /4
F,x13
[&l)] #
Fox11 1
F,
‘0 25 38 50 63 75 100 125
S (mm)
80
I 70
u \
Max © 25 38 50 63 75 100 125
D ——
(2 = i\s
CW 1500 50
1263 D02-63 — T
A39-63 B41-63 CW 1500 050
3563 D67-63 ; =
C05-63 B36-63 SIPARIS ORNEGI

A35



—

ORSA"™
www.orsa-ltd.com

( | CW2400V1 |

URUN S u i |

+0,25 )
KODU (mm) | (mm) | (mm) [
cwaa0010 10 | 65 | 5 | L o o e e e
CW2400016 16 77 | 61 e —
CW2400019 19 83 | 64 e
CW2400025 25 | 95 70 i ::Ezg
CW2400082 32 109 | 77 ol
CW2400038 38 121 83 e L]
CW2400050 50 145 95 .
CW2400063° 63 | 171 | 108 | ]zg 5
CW2400075° 75 @ 195 120 3

Max 05 1625 38 50 63 75 100 125

CW2400080° 80 @ 205 125 e S L1
CW2400100° 100 @ 245 145 ¢ [ I
o0 | [ CW2400125° 125 295 | 170 |sivsees | i |
= Bsr | T
€05-75 B36-75 SIPARI§ ORNEGI
( [ CWC 2400 V2
. @45 [IR[IN s L1 L (daN ) 2 ‘
+0,25 ;
KODU (mm)| (mm) | (mm) =
CWC2400010 10 75 | 65 L] | o
(£5%) bar
CWC2400016 16 | & 71 7 =
CWC2400019 19 93 74 e
-, x1,8 /
CWC2400025 25 105 | 80 Fate Z
CWC 2400 032 32 119 87 ) ;"o 10 25 38 50 63 75 100 125
8- || 67 | § e (mm )
o5 " oue | CWC2400038 38 | 131 | 93 -
CWC2400050 50 | 155 | 105 RN
CWC2400063° 63 = 181 118 :
CWC2400075° 75 @ 205 @ 130 L ERRET D
CWC2400080° 80 215 = 135 7 LI
g | CWC2400100° 100 255 165  pyerers g
CWC2400125*| 125 | 305 180 |G pen SIPARIS GRNEEI

A36



ORSA"

287
295

M8 -

056,6

Q75

2112
2120

URUN
KODU

CW 4200 016
CW 4200019
CW 4200 025
CW 4200 032
CW 4200 038
CW 4200 050
CW 4200 063"
CW 4200 075*
CW 4200 080"
CW 4200 100*
CW 4200 125

URUN

KODU

CW 6600 016
CW 6600019
CW 6600 025
CW 6600 032
CW 6600 038
CW 6600 050
CW 6600 063
CW 6600 075
CW 6600 080
CW 6600 100
CW 6600 125

| CW4200V1 |

(mm)
16

19
25
32
38
50
63
75
80
100
125

100
125

1
0,25
(mm)

0

9%6

108
122
134
158
184
208
218
258

L1
+0,25
(mm)

100
106
118
132
144
168
194
218
228
268
318

121
133
138
158
183

118
131
143
148
168
193

—

www.orsa-ltd.com

(daN )

Fo
(E5%) P o ( bar )

( daN)

Fyx22
Fyx20 j
Fox18 /

Fx16

—I'J L“ Fyx14
F,x12

Fy

0 1625

38 50 63 75

100 125
(mm)

——

60
50

40

4 30
mint 10

0
Max ©0 1625

SN e (MM )

38 50 63 75

100 125

C05-95 B36-95

¢ T

CW 4200
—

CW 4200 050 Vi

SiPARI§ ORNEGI

(daN ),

JTIf

11

)
P

Fo
(£5%) P i (bar )

(daN )

F,x2,
Fx19 T
Foxi) 1T
Ex17
F::“.E 1,
Fx1§
H Fxid
==l Fx13
Fox12
Fxid
0 1625

©» mi

2
(mm )

33

T~

mE

—]

Max ©0 1625 38 50 63 75

SN e (MM )

100 125

O

A14-120 D02-120 | | & %
A34-120 B41-120 || ™
C20-120 D67-120

C05-120 B36-120) | 600 CP-

&

e

L. i

CW 6600 50

SIPARI§ ORNEGI

A37



ORSA™

2100

. G1/8"

. Dolum Yeri

M10x13
(x4)

@100

2142
2150

2100

G1/8”

_ Dolum Yeri

M10x13
(x4)

A38

| CW9500 |

URUN

KoDU

Cw 9500019
CW 9500 025
CW 9500 032
CW 9500 038
CW 9500 050
CW 9500 063
CW 9500 075
CWw 9500 080
CW 9500 100
CW 9500 125

URON

KoDU

CW 11800 019
CW 11800 025
CW 11800 032
CW 11800 038
CW 11800 050
Cw 11800 063
CW 11800 075
CW 11800 080
CW 11800100
Cw 11800 125

(mm)
19

25
32
38
50
63
75
80
100
125

125

228
238
278
328

L1
0,25
(mm)

116
128
142
154
178
204
228
238
278
328

(mm)
97

103
110
116
128
14
153
158
178
203

(mm)
97
103
110
116
128
14
153
158
178
203

www.orsa-ltd.com

(daN )

fF — 1
T11

P
20 3¢ 5 70 90 110 130 150

Fo
(#5%) P el ( har )

F,x1.9 T
Fx18 1
Fox 1.7 i
Fox16
Fox15 //) i—
pis
- - Fox13
Fox12
Fox11 i
F
] 25 38 50 63 75 100 125
B

40
min* X

< L &
- Waan| 14 o)
CW 9500 50
A14-150 D02-150 — 1
A34-150 B41-150 CW 9500 050
€20-150 D67-150 < e
C05-150 B36-150 /| 600 CP- SIPARIS ORNEGI

(daN ),

-]
2030 50 70 90 110 130 150

Fo
(#5%) P i (bar )

(daN )

F,x22
F,x20
Fox18
-FL Fox16
Fyx14
il —
Fyx12
Fo
0 25 38 50 63 75 100 125
B (mm )
40
35
30——Ng ==
25
15 =
10
5

25 38 50 63 75 100 125

o ﬂ ..
600 50
e
C20-150 D67-150 (ERTAA)
C05-150 B36-150 /| 600 CP- SIPARIS ORNEGI




——

ORSA™
www.orsa-ltd.com

p
00,000
I.le.jN s 0'_;5 L (daN )ww 1
i w— KODU  (om) fmm) (om) [ ]
i LR
CW20000019 19 | 148 | 129 . e
(#5%) ———————l( bar )
Y Cw20000025 25 | 160 135
CW2000002 32 74 12 s /
8. ew | CW20000038 38 | 185 148 [&l)] = F
L g.]gs ;DOlumYeri sﬂ 25 38 50 63 75 100 (m':lij
CW20000050 50 210 160
Ml >
‘ CW20000063 63 236 173 =
084,9 i I
| CW20000075 75 260 185 |
CW20000080 80 | 270 190 = — — ‘T‘
. o0 CW20000100 100 310 = 210 ~ !!565 I
— T
CW20000125 125 360 235 -

A39



